
PARTS
LIST MENU

PAGE:

REV

1 2CHG
HISTORY

TOOLSICONS LIST
of   4

PREPARED BY:                                          REVISED BY: CONTROL:  INDUSTRIAL ENGINEERING REV. DATE:  8/20/97 SHOWN-

chromatography

DOC: 03-925501-00
DESC: 1041 Injector/EFC

MICHAEL HARRAL HCP

1041 Injector With EFC

Installation



PARTS
LIST MENU

PAGE:

REV

2 2CHG
HISTORY

TOOLSICONS LIST
of   4

PREPARED BY:                                          REVISED BY: CONTROL:  INDUSTRIAL ENGINEERING REV. DATE:  8/20/97 SHOWN-

chromatography

DOC: 03-925501-00
DESC: 1041 Injector/EFC

MICHAEL HARRAL HCP

00-997628-00
SEPTA

03-917204-00
SPRING

03-925458-01
INSJECTOR SWITCH CABLE

03-925374-01
PROBE, TEMPERATURE

28-693985-00
NUT, 1/4” SST

29-694523-00
FERRULE, GRAPHITE

03-925431-01
INSERT,  INJ.

03-908206-01
ASSY., ACTUATOR SWITCH

03-908127-00
ASSY., INJECTOR NUT HEATED

03-925396-01
120V   HTR. CART. 

03-925396-02
230V   HTR.CART.

03-925396-03
101V   HTR.CART.

03-949551-00
NUT, INJ., CAPILLARY

TO MANIFOLD
03-925512-01
1041  INJECTOR OVEN

CLICK HERE
TO SEE HEATER 
CONNECTION TO
J41 ON POWER BD.

CLICK HERE  TO SEE  
PROBE CONNECTION
TO J7 ON MAIN BOARD

CLICK HERE
OR ON PICTURE

TO SEE SUBASSEMBLY

CLICK HERE
TO SEE HARNESS
CONNECTION TO 
J7 ON MAIN BD.

TO MANIFOLD

03-925482-01
S/A 1041 INJ. EFC

03-918204-00
BAKE-OUT SEPTA

REFERENCE:

22-012004-00
CABLE CLAMP

12-901165-00
SCREW

PARTS NOT SHOWN



PARTS
LIST MENU

PAGE:

REV

3 2CHG
HISTORY

TOOLSICONS LIST
of   4

PREPARED BY:                                          REVISED BY: CONTROL:  INDUSTRIAL ENGINEERING REV. DATE:  8/20/97 SHOWN-

chromatography

DOC: 03-925501-00
DESC: 1041 Injector/EFC

MICHAEL HARRAL HCP

03-925110-03
EFC TYPE 3

12-901163-00
SCREW, 8-32 X 3/8”
EXT. LW 4EA.  8 TOTAL

03-925396-01
120V   HTR. ION 

03-925396-02
220V   HTR. ION 

03-925396-03
101V   HTR. ION 

CLICK HERE  FOR
HEATER CONNECTION
TO J41 ON POWER BD. 

03-925374-01
PROBE, TEMPERATURE

03-925458-01
INJECTOR SWITCH CABLE

CLICK HERE  TO SEE  
PROBE  AND  INJECTOR

TO J7 ON MAIN BOARD
SWITCH CONNECTION

REFERENCE



PARTS
LIST

PAGE:

REV

4 2CHG
HISTORY

TOOLSICONS LIST
of  4

PREPARED BY:                                          REVISED BY: CONTROL:  INDUSTRIAL ENGINEERING REV. DATE:  8/20/97 SHOWN-

chromatography

DOC: 03-925501-00
DESC: 1041 Injector/EFC

MICHAEL HARRAL  HCP

MENU

TO MANIFOLD / 

1041 / EFC  INJECTOR, 3800

TYPE 3 EFC, 3800

CARRIER OUT

TO MANIFOLD / PRESSURE SENSE

CARRIER IN

TO MANIFOLD / 
CARRIER OUT

PRESSURE SENSE

INJ
FRONT

DET.
FRONT

INJ
MIDDLE

DET.
MIDDLE INJ

REAR
DET.
REAR

INJECTOR

CARR.

SPARE

PRESS.
SENSE

SPARE

INJECTOR SIDE MANIFOLD PLUMBING

G
.C

. F
R

O
N

T

G
.C

. B
A

C
K


	00-997628-00 SEPTA
	03-917204-00 SPRING
	03-925458-01 INSJECTOR SWITCH CABLE
	03-925374-01 PROBE, TEMPERATURE
	28-693985-00 NUT, 1/4” SST
	29-694523-00 FERRULE, GRAPHITE
	03-925431-01 INSERT, INJ.
	03-908206-01 ASSY., ACTUATOR SWITCH
	03-908127-00 ASSY., INJECTOR NUT HEATED
	03-925396-01 120V HTR. CART.
	03-925396-02 230V HTR.CART.
	03-925396-03 101V HTR.CART.
	03-949551-00 NUT, INJ., CAPILLARY
	03-925512-01 1041 INJECTOR OVEN
	03-925482-01 S/A 1041 INJ. EFC
	03-925110-03 EFC TYPE 3
	12-901163-00 SCREW, 8-32 X 3/8” EXT. LW 4EA. 8 TOTAL
	03-925396-01 120V HTR. ION
	03-925396-02 220V HTR. ION
	03-925396-03 101V HTR. ION
	03-925374-01 PROBE, TEMPERATURE
	03-925458-01 INJECTOR SWITCH CABLE
	03-918204-00 BAKE-OUT SEPTA
	22-012004-00 CABLE CLAMP
	12-901165-00 SCREW

